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MATHEMATICS CLASS Xl
CHAPTER =5 COMPLEX NUMBERS
AND QUADRATIC EQUATIONS
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Q.2. Express the given complex number in the form a + ib: i* + i*°

Q.1. Express the given complex number in the form a + ib:

Q.3. Express the given complex number in the form a + ib: i™*°

Q.4. Express the given complex number in the forma + 1b: 3(7 +i7) + i(7 + i7)
Q.5. Express the given complex number in the forma+ib: (1 -1) - (-1
+16)

—+i— || 4+i=
Q.6. Express the given complex number in the form a + ib: '3 SJ |k EJ
Q.7. Express the given complex number in the form a + ib:
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Q.8. Express the giveni complex number in the form a + ib: (1 -i)*

ooy
—+3i
Q.9. Express the given complex number in the form a + ib: \3 J
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Q.10. Express the given complex number in the form a + ib: " 3

Q.11. Find the multiplicative inverse of the complex number 4 — 3i

Q.12. Find the multiplicative inverse of the complex number J5+3i

Q.13. Find the multiplicative inverse of the complex number —i

Address: Plot No 420, Behind Shopprix Mall, Vaishali Sector 5, Ghaziabad — 201010
M: 9999907099, 9818932244 O: 0120-4130999
Website: www.vaishalieducationpoint.com , www.educationsolution.co



http://www.vaishalieducationpoint.com/
http://www.educationsolution.co/

Q- EDUCATION SOLUTION
N e ‘

e Dnitiative of Vacishiale Education Paiunt

Q.14.

Express the following expression in the form of a + ib.

(3+145)(3-45)
(V3 +21)-(3-in2)

Q.15. Find the modulus and the argument of the complex number
z=—1-i\3
Q.16. Find the modulus and the argument of the complex number = 3+

Q.17.
Q.18.
Q.19.
Q.20.

Q.21.
Q.22.
Q.23.
Q.24.
Q.25.
Q.26.
Q.27.
Q.28.

Q.29.
Q.30.

Convert the given complex number in polar form: 1 —i
Convert the given complex number in polar form: —1 +i
Convert the given complex number in polar form: — 1 — i

Convert the given complex number in polar form: -3

Convert the given complex number in polar form: V3+i
Convert the given complex number in polar form: i
Solve the equation x>+ 3=0

Solve the equation 2x* +x +1=0

Solve the equation x* + 3x + 9= 0

Solve the equation —x* + x -2 =0

Solve the equation x> + 3x +5=0

Solve the equation x> = x +2 =0
Solve the equation ¥2x' +x+v2 =0

Solve the equation ¥3x" —¥2x+3V3=0
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X +x+—=10

Q.31. Solve the equation V2

¥ 4——+1=0

Q.32. Solve the equation V2

-1

s (1)
Q.33. Evaluate: [ +[J .
Q.34. For any two complex numbers z; and z,, prove that
Re (z1z)=Rez;Rez,—Imz; Im z,
Question 3:
[ 2 (34
Reduce -4 1+i)\ 5+i /1o the standard form.

a—ib L at+p?
(X +y) =5

Q.35. If x—iy = Y¢—id prove that |

Q.36. Convert the following in the polar form:

1+7¢ L +3i

(i) {2—;‘}"(“) 1—2i

20

) 3 —dx+—=0
Q.37. Solve the equation 3
X —21‘+E =)
Q.38. Solve the equation 2

Q.39. Solve the equation 27x*—10x +1=0
Q.40. Solve the equation 21x* - 28x + 10 = 0

z|+12*1

Q.41 If & =271 Z =141 fing |7 =%+,
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2 (x:+l-]|:

(x+i) :
Q.42. Ifa+ib=2x"+1  provethata’ + b?= (2**1)

Q.43. Let Z1=271L 2, =-2+1 [jnqg

Re(@ | Im(%]
M \7a0 A
1+ 2i
Q.44. Find the modulus and argument of the complex number 1-3i

Q.45. Find the real numbers x and y if (x —iy) (3 + 5i) is the conjugate of —6 —
24i.

I+i 1-i

Q.46. Find the modulus of 1-i 1+i

[/

el gyt _J::‘

Q.47. If (x + iy)® = u + iv, then show that ¥ )
p—w
Q.48. If o and P are different complex numbers with Pl = 1, then find 1~ %Pl

Q.49. Find the number of non-zero integral solutions of the equation - =2 :

Q.50. If (a +ib) (c +id) (e +if) (g + ih) = A + iB, then show that
(a2 + b2) (CZ + dZ) (eZ + fZ) (92 + hZ) — A2 + BZ.
(1+i

— | =1
Q.51. Ifl\ "f] , then find the least positive integral value of m.
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